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1. BREEBEOL
(1) BEFINLE
EARMEEAR 600 600 0
HAR B BRE 600 600 0
BEBEERL 70 70 0
FETE B B BB 70 70 0
Zhe%E 10, 400, 000 11, 000, 000 A\ 600, 000
E£BSZISE 10, 000, 000 10, 590, 000 A 590, 000
ETIEI=E-4i eS¢ 60, 000 60, 000 0
EOhSERRSE 340, 000 350, 000 A 10, 000
EENE 300, 000 575, 280 A 275, 280
FHES I 150, 000 300, 000 A 150, 000
IR E IR 50, 000 100, 000 A 50, 000
S BB TN 100, 000 175, 280 A 75, 280
SR ESE 8, 673, 900 8, 852, 200 A 178, 300
TR ERHSE 5086, 200 614, 500 A 108, 300
ZMEEENRERER 8, 167, 700 8, 237, 700 A 70,000
XRAHESE 900, 000 1, 100, 000 A 200, 000
ZTHRAEES 500, 000 700, 000 A 200, 000
HFE - AMERSERAERS 400, 000 400, 000 0
HEUN 3 300, 100 400, 100 A 100, 000
ZHEFE 100f 100 0
M 2% 300,000 400, 000 A 100, 000
72 R A EF 20, 574, 670] 21, 928, 250 A 1, 353, 580
(2) A ) |
EER 17, 258, 840 16, 458, 200 800, 640
=B R 2, 800, 000 2, 880, 000 A 80,000
FaRkF Y 2, 024, 000 2, 080, 000 A 56,000
BREAS A 181, 440 164, 800 16, 640
EERFIE 640, 000 640, 000 0
EAELR 180, 000 180, 000 0
KRB EE 1, 200, 000 1, 200, 000 0
ErEE 15, 000 15, 000 0
BREL 2 65, 000 65, 000 0
=g 300, 000 300, 000 0
REREE 3, 400 3, 400 0
BHEE 600, 000 480, 000 120, 000
U — 2% 400, 000 400, 000 0
X FEHE 60, 000 60, 000 0
SR 2, 200, 000 2, 000, 000 200, 000
SGE 1, 400, 000 1,200, 000 200, 000
RIS A 22 1, 700, 000 1, 600, 000 100, 000
BEERE 800, 000 800, 000 0
B o 500, 000 300, 000 200, 000
R 150, 000 150, 000 0
XIhAESE 450, 000 450, 000 0
THFES 1, 200, 000 1, 100, 000 100, 000




RER 70, 000 70, 000

IR 120, 000 120, 000

HE 200, 000 200, 000
EHE 5, 665, 210 5, 470, 050 195, 160
& B3R 700, 000 720, 000 A 20,000
FEREY 5086, 000 520, 000 A 14,000
B & A 45, 360 41, 200 4,160
EERFIE 200, 000 200, 000 0
BREAR 5, 000 5, 000 0
EELE 180, 000 155, 000 25, 000
SHBE 2, 800, 000 2, 600, 000 200, 000
i TE = 150, 000 150, 000 0
BEERE 120, 000 120, 000 0
HEEm R 100, 000 100, 000 0
R E 18, 000 18, 000 0
EER 125, 000 125, 000 0
PRBRA: 850 850 0
EAE 50, 000 50, 000 0
FIRIY A% 250, 000 250, 000 0
W EDE 150, 000 150, 000 0
REE 90, 000 90, 000 0
U—=¥ 80, 000 80, 000 0
TR 20, 000 20, 000 0
AR =% 10, 000 10, 000 0
XhARE 40, 000 40, 000 0
HE 25, 000 25, 000 0
REERE 22, 924, 050 21,928, 250 995, 800
LHIREERR A 2,349, 380 0 A 2,349, 380

2. BENERDOE
(1) BEHMIE 0 0
RSN IR T 0 0
(2) BESNEA
RE N R 0 0 0
YR E MBI 0 0 0
5| 50— X E R A PE R AR A 2,349, 380 0 A 2,349,380
EAFL, ERBRVEESD 21, 000 21, 000 0
LH — X ERRA PERE AR A 2,370,380 A 21,000 A 2,349, 380
—RRERMENEES 12, 000, 000 8,237,700| 3, 762, 300
—RR ESRM EEHIR TR 9, 629, 620 8, 237, 700| 1, 391, 920
O $5EIERBEREB O

S &% 8, 167, 700 8, 237, 700 A 70,000
W REEBR S 8,167, 700 8, 237, 700 A 170,000
U H1HE T IEBREA 7E A R AR 0 0 0
EEENRMESNEER 0 0 0
FEEERMESNRER 0 0 0
M ERMEHRES 9, 629, 620 8, 237, 700 1,391,920
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